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AHE-01 

 

(APPLICATION ORIENTED COURSE) 

AHE-01 : HUMAN ENVIRONMENT 

Time : 3 hours 	 Maximum Marks : 100 

Note : Attempt any 9 questions in all. Question no. 1 is 
compulsory. 

1. 	(a) Define the following terms : 	 1x5=5 
(i) Demographic transition 

(ii) Shifting cultivation 

(iii) Slums 

(iv) Weather 

(v) Community health 

(b) Fill in the blanks : 	 1x5=5 

(i) Ignorance about the environment is 
more acute in developing countries 
because of 	and illiteracy. 

(ii) Black lung disease is caused by 
breathing in of 	 

and other particulates 
into the lungs due to coal mining. 
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(iii) An ecosystem is a system of regularly 

	  and interdependent 

components forming a unified whole. 

(iv) As a result of technological advances 

in irrigation and agriculture, the 

of land has increased. 

(v) To prevents 	 

trees are planted to break the force of 

the wind. 

(c) State whether the following statements are 

true or false : 	 1x5=5 

(i) During emotional distress the nervous 

system, the endocrine system and the 

immune system get depressed. 

(ii) In India, the habit of alcohol abuse is 

more prevalent among people of the 

affluent sections of our society. 

(iii) A national park is an area dedicated 

to conserve the environment, natural 

and historical objects and to conserve 

the wild life therein. 

(iv) Voluntary organisations can play a 

very important role in environmental 

protection and management. 

(v) The widespread practice of releasing 

raw sewage in shallow soak pits has 

caused pollution ground water in 

many cities. 
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(d) Give the answer in one word/ sentence only : 
1)(5=5 (i) The part of the earth and atmosphere 

in which many smaller ecosystems 
exist and operate. 

(ii) Sudden and dramatic increase in the 

number of human beings which has 

been observed in recent years. 

(iii) Increase in the concentration of 

chemicals in the body of an animal 

with increasing trophic levels. 

(iv) The disease caused by consumption of 

mustard seeds contaminated with 

seeds of poisonous plant Argemone 
mexicana. 

(v) Methods of generating energy 

through solar cells and wind power. 

2. (a) With the help of suitable example, describe 	5 
the interspecific relations in a biological 
community. 

(b) With the help of a simple diagram, describe 	5 
the abiotic and biotic components in a pond 
environment. 

3. (a) Discuss with the help of suitable examples 	5 
how development projects cause 
deforestation. 

(b) Briefly discuss the effects of air pollution on 	5 
the local climate. 
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4. (a) Discuss the importance of community 	5 
health. 

(b) Mention the harmful effects of alcohol and 	5 
drugs on human beings. 

5. (a) Describe any five factors which are 	5 
responsible for extinction of wild life. 

(b) State briefly The Wild Life (Protection) Act 	5 
(1974). 

6. (a) What is organic farming ? How can it be 	5 
used to improve land quality ? 

(b) List and describe the four factors which are 
important in the study of human 
population. 

7. Describe various non-polluting energy systems 10 
which can be used in our country to conserve 
energy. 

8. Briefly discuss the human activities which cause 10 
land degradation. 

9. Differentiate between the following pairs of 
terms : 	 2x5=10 
(a) Parasitism and predation. 
(b) Primary and secondary treatment of sewage 

water. 
(c) Tundra biome and Taiga biome. 
(d) WWF and BNHS. 
(e) Contact transmission and vehicle 

transmission of communicable diseases. 
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10. Write short notes on any two of the following : 

(a) Fossil fuel and its demand in India. 	5x2=10  

(b) High yielding varities (HYV) of plants. 

(c) Treatment of hazardous wastes. 

(d) The South - Asia Cooperative Environment 

Programme (SACEP). 
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1. 	(a) 	F-14-1 	(go -krr- 	4RinfErd 	i : 	1x5=5 

(i) •11-1kil iseich 	 

(ii) T-W9tat .) 4 

,iql 

(iv) *Fr 

(V)1 	rti Izirtz=1 

(b) 	tqc1 f 	i 	r : 	 1x5=5 
(i) rcict,Rikile 	 yi 	cRuf i mrd aifiroT 

fiTUraT 	chikur t 

(ii) itri:Ftff .1z1FT INT91.  14.  Tftii 

	 4T 

W211* *re 	Nx11; eAct)(111 71:1 

A-1-17(1.  t 	t 
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(iii) trft ..5T fTzifiM T-cf 	tf7TER 

	3117 	 7:1 -ER 

t 

(iv) ft.-71 -a ¶-fq 	iNfifrr- 	miFcr 

(v)  

	zrrr4 	t ,41 -q-ra 	1,4A 

chi 	t 

(c) 	 217 t icit-t 	: 	1x5=5 

(i) 	 tcriTzT 

ti 

7R1(ii) atit4 	 3Trq-u 	-1 4-11,31 

Trilz (-11,1 	 i I 

(iii) -Ultzt 	 t Lig 	cRui,  

-51-EttaT 	q=q3ff -u2TE 7,T1-4 

1-e4 	cb-1 -4-{fw 

Trifitu t 

(iv) t 	F 	#739 Liq ckul W-TErf -ff2.1[ 	 

11 qp 1:1 14 lifTrwr f91.17 	t t  

(v) 31-cft tyu qrku 	icy chl ch1-1 

4)1 Wq--1-c1Fricl 1-R4-LW 	chRul 
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(d) 	 koltsq ?TT "rW4z1 	apt 

q ,71 1  : 
	 1x5=5 

(i) 	-a aiTAso cm e 4ri r f 31-74 

Tfc=rr 	31-9-9--- 	-5r91-r-avrt- 
fr4 ,1 	 

(iii) X11 	1qt ~ 	tclt 

Trr2T-Trwi 	t 	r 	t 61-11 
(iv) Tr-{#f 	-mq 	3-77ffi:fri.  

4f-gi9-Tt 	ch) ur4 -4 614 	tl=rt 
(v) 	4-F AT tr-4 -rf-ff 

chl 

2. (a) 	3-q1--071 ch 	V-Ic-11 	 7:111-774 if 	5 

4.gT1 ent --rr--A7 
(b) 	•R-w c r-c171 	dioN ttrft---4-1- t 	AT 	5 

31-4-4 Erzca 	quf7 

3. (a)  

	

	dqltuif c 	.F-11qclf 	"qqf 	ch 
	

5 
trr-Tq-1--49TA t 	ur 

(b) q 	I 7717 i T- -1TF9-T 7—d -4.9 ITT ct-e-11 alTR ACS r 	5 
t? TtRir 	w1f-A7 
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4. (a) 	.-1141q1P-Ich 7z(7-2z1 -  1 .11 	 5 

(b)-tcf k'1.1t 1:1771-Trq -q 7-171 	dccii4 	1 ,-1.biton 	5 

-g9-11-4)' 

5. (a) 	 ft--4 chi qui7 	 5 

f-c-RF.,314-4Rt1 

(b) 	a 	(4tUal) 3-1-W97114 (1974) *I ti 	N.if 	5 

qui9- 	I 

6. (a) lq 	 ? 	7171-4T'Raq-R4 	5 

et-) 1 t wzrzhil 	 d 	1 

t? 

(b) T1T9-4 	 ZTF*1- 1F-Z 3.1W-q9 -.‘T 5 

31-1-47z1tTTI"q 	--;1'111  

f-4h I 

7. 977 -ff -WT4 	 qui-9 *1 	 10 

-crzi-l-rr Tie{ -71 -14 fwzrr iii k-icbcir t 

8. 1:Fra 1'91Y-11110 I44 ch1 zI 	711 fw r *Rut 904MTuT 10 

	t I 

9. 14--1 rirt9ici 	f`4q 	: 

(a) 1-Rs3{1R4cir 3i)k 1:1794TT 

(b) T2TriTIT 3t17 	4-K-1'3ir1 Ohl 34z11t 

(c) -Ft1:1 AT - '11 .q7:1)14 

(d) WWF 3I BNHS 

(e) #1t 4-cituf ')41 3fR 	TfrcRuf 11 

2)(5=10 
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10. F-1 4"1 (1 (Id 4 4 f 	tccru-ft Mft§17 : 
	5x2=10 

(a) RiciR4-1 	t 3TR---d-Tsf Tff-*--1-  I 
(b) - 	f 	(HYV) I 

(c) FCIL1 71 zilch 31-4t1T 	I 

(d) fuu.T 	TI----*-1--#14i1cRur chi 9H-1 (SACEP) I 
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